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Please write down all the detail of your computation and solution.

1. (25%) Evaluate (1) (8%) limu—so(7"++/10 ")V, (2) (8%) [5 Inz de, (3) (9%) & f;j; sin £°dt.
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2. (15%) Find the general solution of differential equation 2z%y/(z) + *(z) = 2zy(z).
3. (15%) Compute the Taylor series for arcsinz at = 0. What is its radius of convergence?

4. (15%) Let C be the intersection curve of two surfaces 22y +2x+2° = 16 and 322 +3°—22 = 9.
Find the tangent line of C at (2, 1, 2).

5. (15%) Find all saddle points, relative maxima and minima of f(z,y) = 22y + 1 — (z* + 3?)/2.
Use second partials test to prove your results.

6. (15%) Use a double integral in rectangular coordinates to compute the volume of unit ball.
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